 NGLPY

VMHOXeHHne JCCATHYHBIX 3HAKOB Ha CTCIICHDb ACCATU

WUms: Jata: ___ Ouenka:___
3,046 x 1000 = 5,459 x 100000 =
3,817 x 10000 = 2,977 x 10 =
10, 519 x 1000000 = 8,346 x 100 =
3,884 x 1000 = 7,864 x 10000 =
4,268 x 1000000 = 7,229 x 100 =
6,612 x 100000 = 10, 101 x 100 =
1,768 x 1000 = 8,406 x 10000 =
7,729 x 100000 = 6, 05 x 100000 =
2,016 x 1000000 = 4, 129 x 100000 =
8,235x 10 = 10, 007 x 10000 =
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: VYMHOXEHHe JCCATHYHBIX 3HAKOB Ha CTCIICHD ACCATU

Pws: Jata: ____ Ouemka:
3,046 x 1000 = 3046 5,459 x 100000 = 545900
3,817 x 10000 = 38170 2,977 x 10 =29.77
10, 519 x 1000000 = 10519000 8,346 x 100 = 834.6
3,884 x 1000 = 3884 7,864 x 10000 = 78640
4,268 x 1000000 = 4268000 7,229 x 100 =722.9
6,612 x 100000 = 661200 10, 101 x 100 = 1010.1
1,768 x 1000 = 1768 8,406 x 10000 = 84060
7,729 x 100000 = 772900 6, 05 x 100000 = 605000
2,016 x 1000000 = 2016000 4, 129 x 100000 = 412900
8,235 %10 =82.35 10, 007 x 10000 = 100070
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